Mc Graw Hill

Because learning changes everything.

QUOTE PREPARED FOR:

New Hampton Comm Sch Dis 710 W MAIN ST NEW HAMPTON, IA 50659-1004 ACCOUNT NUMBER: 307010

CONTACT:

Karen Kayser-Kemp k_kayser-kemp@new-hampton.k12.ia.us (641) 394-2134

SUBSCRIPTION/DIGITAL CONTACT:

Karen Kayser-Kemp k_kayser-kemp@new-hampton.k12.ia.us (641) 394-2134

SALES REP INFORMATION:

Bill Kearney william.kearney@mheducation.com (319) 333-8627

		Value of All		
Section Summary		Materials	Free Materials	Product Subtotal
Reveal Math © 2025 - Course 1, Grade 6 (6 Year)		\$12,802.50	(\$1,404.00)	\$11,398.50
Reveal Math © 2025 - Course 2, Grade 7 (6 Year)		\$16,136.16	(\$1,404.00)	\$14,732.16
Reveal Math © 2025 - Course 3, Grade 8 (6 Year)		\$13,362.03	(\$1,357.41)	\$12,004.62
6-8 Manipulative Kit		\$1,279.08	\$0.00	\$1,279.08
Extra Teacher Guides		\$859.86	(\$859.86)	\$0.00
Professional Development		\$10,500.00	(\$6,500.00)	\$4,000.00
	PRODUCT TOTAL*	\$54,939.63	(\$11,525.27)	\$43,414.36
	ESTIMATED S&H**			\$2,171.00
	ESTIMATED TAX**			TBD
	GRAND TOTAL*			\$45,585.36

* Price firm for 90 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

**Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of order.

Comments:

Please Start All Licenses on August 1st 2024

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

 SEND ORDER TO:
 McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

 Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

 QUOTE DATE:
 05/15/2024

 ACCOUNT NAME: New Hampton Comm Sch Dis
 EXPIRATION DATE:

 08/13/2024

 QUOTE NUMBER:
 BKEAR-05152024092122-001



Because learning changes everything."

Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
Reveal Math © 2025 - Course 1, Grade 6 (6 Year)					
REVEAL MATH COURSE 1 STUDENT BUNDLE WITH ALEKS VIA MY.MHEDUCATION.COM 6YR SUB Includes: Interactive Student Editions (Ships Annually) + Student Digital License + ALEKS + MH Plus	978-1-26-464580-0	70	\$151.53	\$0.00	\$10,607.10
REVEAL MATH COURSE 1 SPANISH STUDENT BUNDLE 6 YEAR SUBSCRIPTION	978-1-26-456031-8	5	\$158.28	\$0.00	\$791.40
Teacher Materials	•				-
REVEAL MATH COURSE 1 TEACHER EDITION VOLUME 1	978-1-26-582930-8	3	\$103.14	\$309.42	*Free Materials
REVEAL MATH COURSE 1 TEACHER EDITION VOLUME 2	978-1-26-583011-3	3	\$103.14	\$309.42	*Free Materials
REVEAL MATH COURSE 1 ASSESSMENT RESOURCE BOOK	978-1-26-584044-0	3	\$64.20	\$192.60	*Free Materials
Digital Only - REVEAL MATH COURSE 1 TEACHER DIGITAL LICENSE 6 YEAR SUBSCRIPTION	978-1-26-581419-9	3	\$150.93	\$452.79	*Free Materials
ALEKS 6-12 ADD-ON VIA MY.MHEDUCATION.COM 6 YEAR TEACHER SUBSCRIPTION	978-0-07-697183-1	3	\$46.59	\$139.77	*Free Materials
	Т	eacher Mat	erials Subtotal:	\$1,404.00	\$0.00
Reveal Ma	ath © 2025 - Course 1,	Grade 6 (6	Year) Subtotal:	\$1,404.00	\$11,398.50
Reveal Math © 2025 - Course 2, Grade 7 (6 Year)					
REVEAL MATH COURSE 2 STUDENT BUNDLE WITH ALEKS VIA MY.MHEDUCATION.COM 6YR SUB Includes: Interactive Student Editions (Ships Annually) + Student Digital License + ALEKS + MH Plus	978-1-26-468482-3	92	\$151.53	\$0.00	\$13,940.76
REVEAL MATH COURSE 2 SPANISH STUDENT BUNDLE 6 YEAR SUBSCRIPTION	978-1-26-458464-2	5	\$158.28	\$0.00	\$791.40
Teacher Materials					
REVEAL MATH COURSE 2 TEACHER EDITION VOLUME 1	978-1-26-583228-5	3	\$103.14	\$309.42	*Free Materials
REVEAL MATH COURSE 2 TEACHER EDITION VOLUME 2	978-1-26-583281-0	3	\$103.14	\$309.42	*Free Materials
REVEAL MATH COURSE 2 ASSESSMENT RESOURCE BOOK	978-1-26-584120-1	3	\$64.20	\$192.60	*Free Materials
Digital Only - REVEAL MATH COURSE 2 TEACHER DIGITAL LICENSE 6 YEAR SUBSCRIPTION	978-1-26-581619-3	3	\$150.93	\$452.79	*Free Materials
ALEKS 6-12 ADD-ON VIA MY.MHEDUCATION.COM 6 YEAR TEACHER SUBSCRIPTION	978-0-07-697183-1	3	\$46.59	\$139.77	*Free Materials
	Т	eacher Mat	erials Subtotal:	\$1,404.00	\$0.00
Reveal Ma	ath © 2025 - Course 2,	Grade 7 (6	Year) Subtotal:	\$1,404.00	\$14,732.16

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605 Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:	05/15/2024	ACCOUNT NAME: New Hampton Comm Sch Dis	EXPIRATION DATE:	08/13/2024
QUOTE NUMBER:	BKEAR-05152024092122-001	ACCOUNT #: 307010	PAGE #:	2



Because learning changes everything."

Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
Reveal Math © 2025 - Course 3, Grade 8 (6 Year)					
REVEAL MATH COURSE 3 STUDENT BUNDLE WITH ALEKS VIA MY.MHEDUCATION.COM 6YR SUB Includes: Interactive Student Editions (Ships Annually) + Student Digital License + ALEKS + MH Plus	978-1-26-461463-9	74	\$151.53	\$0.00	\$11,213.22
REVEAL MATH COURSE 3 SPANISH STUDENT BUNDLE 6 YEAR SUBSCRIPTION	978-1-26-460282-7	5	\$158.28	\$0.00	\$791.40
Teacher Materials	-		•	•	
REVEAL MATH COURSE 3 TEACHER EDITION VOLUME 1	978-1-26-583357-2	3	\$103.14	\$309.42	*Free Materials
REVEAL MATH COURSE 3 TEACHER EDITION VOLUME 2	978-1-26-583455-5	3	\$103.14	\$309.42	*Free Materials
REVEAL MATH COURSE 3 ASSESSMENT RESOURCE BOOK	978-1-26-584215-4	3	\$64.20	\$192.60	*Free Materials
Digital Only - REVEAL MATH COURSE 3 TEACHER DIGITAL LICENSE 6 YEAR SUBSCRIPTION	978-1-26-581693-3	3	\$150.93	\$452.79	*Free Materials
ALEKS 6-12 ADD-ON VIA MY.MHEDUCATION.COM 6 YEAR TEACHER SUBSCRIPTION	978-0-07-697183-1	2	\$46.59	\$93.18	*Free Materials
	- Te	eacher Mate	erials Subtotal:	\$1,357.41	\$0.00
Reveal M	ath © 2025 - Course 3,	Grade 8 (6	Year) Subtotal:	\$1,357.41	\$12,004.62
6-8 Manipulative Kit					
REVEAL MATH MANIPULATIVE KIT GRADE 3-5	978-1-26-441738-4	0	\$577.23	\$0.00	\$0.00
REVEAL MATH MANIPULATIVE KIT GRADES 6-8	978-1-26-640106-0	3	\$426.36	\$0.00	\$1,279.08
	6-8	Manipulativ	e Kit Subtotal:	\$0.00	\$1,279.08

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605 Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: QUOTE NUMBER:

05/15/2024 BKEAR-05152024092122-001 ACCOUNT NAME: New Hampton Comm Sch Dis ACCOUNT #: 307010 EXPIRATION DATE: 08/13/2024 PAGE #: 3



Because learning changes everything."

Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
Extra Teacher Guides					
REVEAL MATH ACCELERATED TEACHER EDITION VOLUME 1	978-0-07-899725-9	1	\$103.14	\$103.14	*Free Materials
REVEAL MATH ACCELERATED TEACHER EDITION VOLUME 2	978-0-07-899178-3	1	\$103.14	\$103.14	*Free Materials
REVEAL ALGEBRA 1 TEACHER GUIDE VOLUME 1	978-0-07-899745-7	1	\$108.93	\$108.93	*Free Materials
REVEAL ALGEBRA 1 TEACHER GUIDE VOLUME 2	978-0-07-899746-4	1	\$108.93	\$108.93	*Free Materials
REVEAL GEOMETRY TEACHER GUIDE VOLUME 1	978-0-07-899750-1	1	\$108.93	\$108.93	*Free Materials
REVEAL GEOMETRY TEACHER GUIDE VOLUME 2	978-0-07-899751-8	1	\$108.93	\$108.93	*Free Materials
REVEAL ALGEBRA 2 TEACHER GUIDE VOLUME 1	978-0-07-899755-6	1	\$108.93	\$108.93	*Free Materials
REVEAL ALGEBRA 2 TEACHER GUIDE VOLUME 2	978-0-07-899756-3	1	\$108.93	\$108.93	*Free Materials
	Extra	a Teacher G	uides Subtotal:	\$859.86	\$0.00
Professional Development					
DRIVING WITH DATA PROF LRN ONLINE 1 HALF-DAY MH PLUS AND 1 HALF-DAY ALEKS	978-1-26-628650-6	1	\$2,500.00	\$0.00	\$2,500.00
ALEKS ONLINE PROFESSIONAL LEARNING 1 YEAR-UNITS PER YEAR	978-1-26-510193-0	1	\$1,500.00	\$0.00	\$1,500.00
PROFESSIONAL LEARNING ONSITE DAY 6-12 MATHEMATICS	978-1-26-422185-1	1	\$3,500.00	\$3,500.00	*Free Materials
PROF LRN HALF-DAY ONLINE TRAINING 2 HOUR SESSION GRADES 6 12 MATHEMATICS	978-1-26-599201-9	2	\$1,500.00	\$3,000.00	*Free Materials
	Professio	nal Develop	oment Subtotal:	\$6,500.00	\$4,000.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605 Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: QUOTE NUMBER:

05/15/2024 BKEAR-05152024092122-001 ACCOUNT NAME: New Hampton Comm Sch Dis ACCOUNT #: 307010 EXPIRATION DATE: 08/13/2024 PAGE #: 4



Because learning changes everything.

\$54,939.63

TBE

QUOTE PREPARED FOR:

New Hampton Comm Sch Dis 710 W MAIN ST NEW HAMPTON, IA 50659-1004 ACCOUNT NUMBER: 307010

CONTACT:

Karen Kayser-Kemp k kayser-kemp@new-hampton.k12.ia.us (641) 394-2134

FREE MATERIALS (\$11,525.27 PRODUCT TOTAL* \$43,414.36 ESTIMATED SHIPPING & HANDLING** \$2,171.00 ESTIMATED TAX** GRAND TOTAL \$45,585.36

SUBSCRIPTION/DIGITAL CONTACT:

Karen Kayser-Kemp

k_kayser-kemp@new-hampton.k12.ia.us (641) 394-2134

Comments

Please Start All Licenses on August 1st 2024

Price firm for 90 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

**Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of order.

ALUE OF ALL MATERIALS

Terms of Service:

By placing an order for digital products (the 'Subscribed Materials'), the entity that this price quote has been prepared for ('Subscriber') agrees to be bound by the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. Subject to Subscriber's payment of the fees set out above, McGraw Hill LLC hereby grants to Subscriber a non-exclusive, non-transferable license to allow only the number of Authorized Users that corresponds to the quantity of Subscribed Materials set forth above to access and use the Subscribed Materials under the terms described in the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. The subscription term for the Subscribed Materials shall be as set forth in the Product Description above. If no subscription term is specified, the initial term shall be one (1) year from the date of this price quote (the 'Initial Subscription Term'), and thereafter the Subscriber shall renew for additional one (1) year terms (each a 'Subscription Renewal Term'), provided MHE has chosen to renew the subscription and has sent an invoice for such Subscription Renewal Term to Subscriber.

Terms Of Service

Provisions required by Subscriber State law

ATTENTION: In our effort to protect our customer's data, we will no longer store credit card data in any manner within in our system. Therefore, as of April 30, 2016 we will no longer accept credit card orders via email, fax, or mail/package delivery. Credit card orders may be placed over the phone by calling the number listed above or via our websites by visiting www.mheducation.com (or www.mhecoast2coast.com).

School Purchase Order Number:

Name of School Official (Please Print)

Signature of School Official

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:	McGraw Hill LLC PO Box 182605 Columbus, OH 43218-2605
	Email: orders_mhe@mheducation.com Phone: 1-800-338-3987 Fax: 1-800-953-8691

QUOTE DATE:	05
QUOTE NUMBER:	Bł

5/15/2024 KFAR-05152024092122-001 ACCOUNT NAME: New Hampton Comm Sch Dis ACCOUNT #: 307010

EXPIRATION DATE: 08/13/2024 PAGE # 5